MATHS

BOOKS - RAY AND MARTIN MATHS
(BENGALI)

QUESTION PAPER 2011

1.4z — 9y? = 36 97IJa6I TP w0l W



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_JPTbGzn4UuWg

EERERE
w (@)} =

w\ﬁ
N

Answer: C

° Watch Video Solution

2.162% + 25y* = 400 THad Aife TFd ey

5
A — dPP
16


https://dl.doubtnut.com/l/_JPTbGzn4UuWg
https://dl.doubtnut.com/l/_KnbPno85Z4Hl

B. — 4pP
C. — 9o

5
D. — d4®P
32

Answer: B

o Watch Video Solution

3. y? + 6z — 2y + 13 = 0 &feJrad T 9o

2o

A. (1,-1)


https://dl.doubtnut.com/l/_KnbPno85Z4Hl
https://dl.doubtnut.com/l/_RHDZB79PZP19

()

Answer: B

o Watch Video Solution

4, 936 dfefid oy pd BAIE 2
(2¢% + 4, 4t + 6) , OWR @ [T9f6d TBIT 9UB 2@

aBH6


https://dl.doubtnut.com/l/_RHDZB79PZP19
https://dl.doubtnut.com/l/_3OXne0HrRneQ

A.J3

B. STt
C. wif4ga

D. T9q3

Answer: C

o Watch Video Solution

5. 8z° +12y° —4x + 4y — 1 =0 SIPG

At @


https://dl.doubtnut.com/l/_3OXne0HrRneQ
https://dl.doubtnut.com/l/_RmD5Yetx2Xyd

A. 935 G193

B. 936 94198

C. 9316 wIfgqs

D. 4316 38

Answer: A

o Watch Video Solution

6. qfm Yy = mz NI UT
z? + y? — 20y + 90 = 0 J(3< IRW WIFA I,

Od m-a9 JI¥ W


https://dl.doubtnut.com/l/_RmD5Yetx2Xyd
https://dl.doubtnut.com/l/_dHmHU5VGMLzE

Am <3
B.|/m| <3
C.m >3

D.|m| > 3

Answer: B

o Watch Video Solution

7. 9% Afq@e~ e 79 (a, 0), ( — a, 0) (@ T

AF (PN (3 (BTHI ABIIAAI TNDIT Q@


https://dl.doubtnut.com/l/_dHmHU5VGMLzE
https://dl.doubtnut.com/l/_F1q58s94noDE

Bx+y=a

Crx+y=2a

D.z =0
Answer: D

o Watch Video Solution

8. z+y=4 @IK T wdfEe @ Iy 4o

4z + 3y = 10 MRT@LT (TP 9B UG ©[EO,

©Ithd BTAIF 20Tl


https://dl.doubtnut.com/l/_F1q58s94noDE
https://dl.doubtnut.com/l/_tJ46UPh5GM2P

A. (-3,1),(7,11)

B. (3,1),(-7,11)

C. (3,1),(71)

D. (5,3),(-1,2)

Answer: B

o Watch Video Solution

9 z°+y’ —2x =0 J&d 9H y=2 A
QU5 TAT (®Wd AB 30, AB ST @IS T

47d J(ad M 1PdT 2


https://dl.doubtnut.com/l/_tJ46UPh5GM2P
https://dl.doubtnut.com/l/_HyaRWBJI7qCb

Az’ 4y’ =1
B.z(z —1)+yly—1) =0
Czl+y*=2

D.(z —1)(z —2)+(y—1)(y—2) =0

Answer: B

o Watch Video Solution

10. 2> +¢y* 4+ 4z —8y+5=0 Jalbd 95

IR 936 d43vg BiAlE I (2) T, oW
g dr3fav(6d BAIS 2@


https://dl.doubtnut.com/l/_HyaRWBJI7qCb
https://dl.doubtnut.com/l/_hC2C6fS7hpZD

A. (-6,77)

B. (6,7)

C.(-6,7)

D. (7,-6)

Answer: C

o Watch Video Solution

1. A(1,6), B(3, —4) a3 C(z, y) v foal6
T, O x 932 y T 51 AIbeIfB 2et


https://dl.doubtnut.com/l/_hC2C6fS7hpZD
https://dl.doubtnut.com/l/_wk6Qhtz8usn4

AdSc+y—11=20

B.5z + 13y + 5 = 0

C.5z — 13y +5 =0

D.13x — by +5=0

Answer: A

o Watch Video Solution

12.IM sinf = 27 93¢ 0 TFoly sudtert

1+ ¢2
YD ©[ cos 0 -A9 T4 2]


https://dl.doubtnut.com/l/_wk6Qhtz8usn4
https://dl.doubtnut.com/l/_CFhwfcAWtEhO

1 — ¢2
A.

1+ ¢2

2 —1
B.

1+ ¢2

— |1 —#

1+ ¢2
1+ 2
1 — ¢

D.

Answer: C

o Watch Video Solution

13.cos 1z < sin~ ' 2 OHOIG THIYH CT6{B

2o


https://dl.doubtnut.com/l/_CFhwfcAWtEhO
https://dl.doubtnut.com/l/_xqpXghh9EOeU

Answer: D

o Watch Video Solution

14. 2sinz + cosz = 3 -9% SIHIPAET STIILIA

YT


https://dl.doubtnut.com/l/_xqpXghh9EOeU
https://dl.doubtnut.com/l/_5aI4utCdZIRs

Al

B.2

C. aPiRYY

D. (@®IF TTIYIF ({2

Answer: D

° Watch Video Solution

15. am tana =

X ade
a-+1

1
tan 8 = Y, 0@ a + B AT W
2a + 1



https://dl.doubtnut.com/l/_5aI4utCdZIRs
https://dl.doubtnut.com/l/_2dNZyDCnLhuh

>

%
Y E RGO RN

o
N

Answer: A

o Watch Video Solution

6. g 9+¢:%

(1+tanf)(1 + tan¢) AT FN A

2,


https://dl.doubtnut.com/l/_2dNZyDCnLhuh
https://dl.doubtnut.com/l/_QXJFdbNiBqlo

Al

N

O
wW|— | o

Answer: B

° Watch Video Solution

17. I sinf 932 cosh, azx? — bz +c =0

TP Bd 9IS 27, O a,b 972 ¢ g FE


https://dl.doubtnut.com/l/_QXJFdbNiBqlo
https://dl.doubtnut.com/l/_fDcT6NIGkKc3

A a®+ b+ 2ac=0

B.a? — b +2ac=0

Cal+c+2ab=0

D.a’? — b — 2ac =10

Answer: B

o Watch Video Solution

18. I A 932 B 9¥A %f FTGH T @ A + B

AR AB GoTg? MLTEIO, 5@


https://dl.doubtnut.com/l/_fDcT6NIGkKc3
https://dl.doubtnut.com/l/_qljQvY2eKcAB

A. A 932 B (@ (FIF FTIGH 20 HI@

B. AB 2e1 7fb I FTIfE v Fral ¥ 13
(0 I

C. AB 3T ST gTald 7f6 Isf JTifGa

D. A TSI BEI YT = B ATIG&R Mk

YT

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_qljQvY2eKcAB

3 x —1

19. IMm
(2:1:—|—3 x + 2

)aaﬁs‘maﬂﬁ@

¥, O x-49 JI4 21

A 4

B.3

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_FAVdeqEGuVb5
https://dl.doubtnut.com/l/_MHR04dU4hMI7

1 1+2 —5i
20. IM z=1|1—-2i -3 5+4+3i|, ©W@
5 5 —3i 7

(i = v=T)
A. z 357 QBI6 T B LT
B. z 261 90 AT FIGAD U7
Cz+z=0

D. (z — Z)i 20T 9BI0 [RS8 % BIgiAd Ul

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_MHR04dU4hMI7
https://dl.doubtnut.com/l/_gYSJWFlRltuM

2. zsinf+ (1 —cosf)y = asinf  aR

zsinf — (1 4+ cos @)y + asinf = 0 STl

75 (W [T TRIAAT ST IBa
Ay= Tazx
B.x = £ ay
C.y? = dax

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_gYSJWFlRltuM
https://dl.doubtnut.com/l/_esNTG5IFsfNb

22. M sinf + cos§ = 09320 < 0 < 72T, O

6 =

A.O

%

N
q>|§° ]I N

o

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_esNTG5IFsfNb
https://dl.doubtnut.com/l/_hVqzTmq8c2QU

23.cos 15° — sin15° Q3 I 21

A.O

1
B. —
V2

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_hVqzTmq8c2QU

24. f(x) = cosdx + tan3z WHDIbL AAY

(period) 2e1

N o >
)

o
=3 w3 |y

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_HRfaUF1Eyl7b
https://dl.doubtnut.com/l/_atn1hA72SMCY

25. A y = 22° — 222 + 3z — 5 T, OW x=2
AR Az = 0.1 QR 99 GAT Ay A7 JIH W

A. 2.002

B.1.9

C.0

D. 0.9

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_atn1hA72SMCY

26. /33 99 W9 4 vIfTd B ST JI7 26

A2
B. 2.1001
C.2.0125

D. 2.05

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_psVMBamagCLB

2
27./ (z + 1)dz 99T

—2
A.2

B.O

D.4

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_7jcLGlIMpVU3

28. f(z) = e TSI O

LRI

Answer: A

Rolle’s

o Watch Video Solution



https://dl.doubtnut.com/l/_ee0F3ULCmeBe
https://dl.doubtnut.com/l/_Lh2OlnZb72qW

d?y d
29, —+8—y+16y_0@aawr5rﬁﬂm¢%a
dz? dx

AT AT 2¢T

A. (A + Bzx)e®
B.(A+ Bx)e %
C.(A+ B:L'2)e4w

D. (A + Bw4)e4

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Lh2OlnZb72qW

d
30.3M 2% + y* = 427, 0K yd—y + x=
x

A4
B.O

C.1

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_CSbWBaZmTfth

/:L'?’da:
31. =
1+ x8

A 4tan ! 23 +c

B.—tan 'z* + ¢
Cxt4tan 'z* + ¢

D. a:2 —+ —tan_1 :c4 + c

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_byO9sfCYT7gW

167
32. / |sin z|dx=
T

A.O
B.32
C.30

D. 28

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_u8WYXPcheOiH

C. 4,1

D. 1,4

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_eTO5sCf7mhau
https://dl.doubtnut.com/l/_rB7m87lcA7Wg

0 xz =20
r—3 x>0

34. f(z) = { [CUEESTAIT

A PIIGTR TN 2 > 0
B. I WI@iat I = > 0

C. x=0 fI¥ro g BIalet

D.x=0 fIyo B0 AY, ©lk £ > 0 99 TS

REERIERGR]

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_rB7m87lcA7Wg
https://dl.doubtnut.com/l/_loAX7iGX6lMd

35. f(z) = ax + b SIEHDI6 IAR WIEIR 2@

T (FUIA x 267 BT J2YT)

Aa >0

B.a <0

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_loAX7iGX6lMd

cos 2z
36./ dx=
COS T
A.2sinz + log|secz + tanz| 4+ C
B.2sinz — log|secx — tanz| + C

C.2sinz — log|secx + tanz| + C

D.2sinz + log|secz — tanz| 4+ C

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Ubs1DmezVdZ3

sin’z — cos?
37./ dzx

1 —2sinzcosze
A.log(sinz 4 cosz) + C
B.log(sinz — cosz) + C
C.log(tanz — secz) + C

D.log(tanx + secz) + C

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_tk5BiMW4Jkbr

T

d
38, A6 (PG loge(dy> = x + y ©JdA
TP ST ST ?
Ae®+e ¥=C
B.e* +e¥ =C
Ced+e *+C

D.e *+e Y¥=C

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Mkikd5UaB5GX
https://dl.doubtnut.com/l/_C8kX9mlqvchF

A , d%y
3921'ﬁ7|y———|-Bw 2q, O z* d—=
I

A. 2y

Answer: A

o Watch Video Solution

40. 3" 1 97 aBI6 IIGAD T w T, OW


https://dl.doubtnut.com/l/_C8kX9mlqvchF
https://dl.doubtnut.com/l/_ajrCdOxxaq6g

C.1

D.O

Answer:

o Watch Video Solution

41. 4 OA AP 8 2 TA JfADI 9397 PIEAT
QB G Tpe SIQ DT | 9 ©IRBIT UG Jiferp

ST T STRIGAT et


https://dl.doubtnut.com/l/_ajrCdOxxaq6g
https://dl.doubtnut.com/l/_cpp6t4bArjBk

S|= W= ARk N

Answer: C

o Watch Video Solution

42. 936 U Q@ Q@ B BT =e1 | I A

2


https://dl.doubtnut.com/l/_cpp6t4bArjBk
https://dl.doubtnut.com/l/_C7zUD3uDloEj

o >
= oo~ M|+ 5|H

N

o

Answer: B

o Watch Video Solution

7213‘ _|_e
3.5 ¢ a7 fTBfoTe 2™ 9 T=sIfB 2et
6

A.
n



https://dl.doubtnut.com/l/_C7zUD3uDloEj
https://dl.doubtnut.com/l/_ORp6UVWpZHd7

Answer: D

o Watch Video Solution

44, 1.2 2.3 + 3.4 —....00 &fog

(JI5IpeT 2]

A 2log, 2+ 1


https://dl.doubtnut.com/l/_ORp6UVWpZHd7
https://dl.doubtnut.com/l/_ElArGMe5ro2Z

B.2log, 2

C.2log, 2 —1

D.log, 2 — 1

Answer: C

o Watch Video Solution

45.(101)"%° — 1 57e4TifS

A. 10* giat Iy

B. 10° 71t fIstay


https://dl.doubtnut.com/l/_ElArGMe5ro2Z
https://dl.doubtnut.com/l/_ra5hqONVPCuz

C. 108 gt fIsrey

D. 10" g1at fIstay

Answer:

o Watch Video Solution

46. (1 +z)™" a3 (1 + z)*" ' a7 [Bfor M
z" g 3RS YYTP T A QR B W O A/ B a9 IR

d

A 4


https://dl.doubtnut.com/l/_ra5hqONVPCuz
https://dl.doubtnut.com/l/_0KIWdrWnV8R3

B.2

C.9

D.6

Answer: B

o Watch Video Solution

47.qM n > 1 96 JP1YT 2T 932 = # 0 2T,

OW (1 + z)" — nz — 1750 2@

A. nz? gigt


https://dl.doubtnut.com/l/_0KIWdrWnV8R3
https://dl.doubtnut.com/l/_HWiRIy7t2m8h

B. n’z gl

C. x gidl

D. nz? gidt

Answer: D

o Watch Video Solution

48. M n,, N, AR ne, AT d5ifoTo ANMF, O

n ad d1q 21

A. 7 Gdl 14


https://dl.doubtnut.com/l/_HWiRIy7t2m8h
https://dl.doubtnut.com/l/_82qM4Plh91kb

B.7

C.14

D. 14 ©IYdTl 21

Answer: A

o Watch Video Solution

49. 930 JIoGOWd BT MW 20 e, P

39\23@3 JOYTT I

A5


https://dl.doubtnut.com/l/_82qM4Plh91kb
https://dl.doubtnut.com/l/_e2gk1T5VEewT

B.6

C.8

D.10

Answer: C

o Watch Video Solution

50. ].503 + ].505 4+ ...... + ].5015=

A 214

B.24 — 15


https://dl.doubtnut.com/l/_e2gk1T5VEewT
https://dl.doubtnut.com/l/_QmYCMspU7K21

c.2* + 15

D.24 — 1

Answer: B

O Watch Video Solution

51. 4 IIF ab,c T A6 IV MU @

a+2b+4c=0 O 3 ar’+br+c=0

TABIBT

A. 7 o2 SifGe


https://dl.doubtnut.com/l/_QmYCMspU7K21
https://dl.doubtnut.com/l/_fldiI4Pc0D9t

B.UGdOR —1 < z < 0 OI3AN ORE

1
c.aaﬁ?fmﬁa ad A

D.GATR 2 < = < 6 TIBAICT BIAE®

Answer: C

o Watch Video Solution

52. AWM pz’ + gz + r = 0 SAISINB A6

SIS a: bam e 0 -

(a+b)


https://dl.doubtnut.com/l/_fldiI4Pc0D9t
https://dl.doubtnut.com/l/_Sn7yqrTCxDfi

S |S

LB R

Answer: B

o Watch Video Solution

53.9M 22 4+ 2 4+ 1 = 0 ADAIT ISET a 932
£ 27, B (@ THPIIT Iogd ol? a3 87 2@, ot

o]


https://dl.doubtnut.com/l/_Sn7yqrTCxDfi
https://dl.doubtnut.com/l/_zKRk3LCVYhSy

Azl —z—-1=0

B.z2 -z +1=0

Cz’+z—-1=0

Dz’ +x2z+1=0

Answer: D

o Watch Video Solution

1+ sin? x
54, dx 9d T4 2(d-
1 + cos 2x

T
A.secx + E + c


https://dl.doubtnut.com/l/_zKRk3LCVYhSy
https://dl.doubtnut.com/l/_OgptukXHNCur

T
B.tanx — E +c

C.x +sin2x + xc

€T
D.E—cotx—l—c

Answer: B

o Watch Video Solution

1
55. gfm :1:+E:2cosé’ Y, oW T A

. 1
FPRYT n AT GAY ™ + —=
T

A. 2 cos nb


https://dl.doubtnut.com/l/_OgptukXHNCur
https://dl.doubtnut.com/l/_CutyZxMrQAaC

B. 2sin né

C. 27 cosnb

D. 27 sin nf

Answer: A

o Watch Video Solution

56. M w # 1 9B DIGAP TAYeT 27, O

3n

A.
w—1

B.3n(w — 1)


https://dl.doubtnut.com/l/_CutyZxMrQAaC
https://dl.doubtnut.com/l/_cVeRsgqQ2lTH

Answer:

° Watch Video Solution

57. ¥M  logzx +loggy = 2 + logz, AR

logs(z +y) = 2,0

A. x=1,y=8

B. x=8,y=1


https://dl.doubtnut.com/l/_cVeRsgqQ2lTH
https://dl.doubtnut.com/l/_NquNrz5rJ2kp

C. x=3,y=6

D. x=9,y=3

Answer: C

° Watch Video Solution

58. ].0g7 2 = )\ (A 10g49 (28) ad RG] d

A (22X + 1)
B. (2A + 3)

1
C.5(2A+1)


https://dl.doubtnut.com/l/_NquNrz5rJ2kp
https://dl.doubtnut.com/l/_szbPXMRtHI7S

D.2(2\ + 1)

Answer: C

° Watch Video Solution

a’ a’
59.loga, log —, log —, ....... &A6 2o

A. 9316 G.P, (BTTaT 451f0)
B. aBI6 A.P. (ST F41f6)

C. 9316 H.P. (REd@ g51f%)


https://dl.doubtnut.com/l/_szbPXMRtHI7S
https://dl.doubtnut.com/l/_ACxecky9n7tH

D.G.P. 932 H.P. (3187 a2 fde &si1fe)

GG

Answer: B

o Watch Video Solution

60. ¥M 936 fags ABC 49 oY

sin A4, sin B, sin C 3134 dsifoto Aid, O

A. SHOIBTA AP, (STIIFT d51f6) (@ IBE

B. THwIfe H.P. (Radie dsife) @ AP


https://dl.doubtnut.com/l/_ACxecky9n7tH
https://dl.doubtnut.com/l/_S2w5FZJ7wMsx

C. (II3feT AP, (STTIBT g5if6) (@ YIBE

D. BiI3fer H.P. (Rade g9f6) @ PR

Answer: B

O Watch Video Solution

a—b b—c c—a
6l.|b—c c—a a—b|=

c—a a—b b—oc

A.O


https://dl.doubtnut.com/l/_S2w5FZJ7wMsx
https://dl.doubtnut.com/l/_wQnRHnhw2M19

C.1

D. 2

Answer: A

° Watch Video Solution

62. y> = x QR y = ¢ a7 T MIRG GH@d

(rape 2d

2 _,
A.g?l'ﬂé]?l%

1 _,
B.E?ﬁTQW


https://dl.doubtnut.com/l/_wQnRHnhw2M19
https://dl.doubtnut.com/l/_TPiVpMIhaghU

1 _,
C.gZI'STSW

1 _,
D.EZI'STERI%

Answer:

° Watch Video Solution

63. f(z) = x>, > 0 AT f(x) 99 5IF TIA

W


https://dl.doubtnut.com/l/_TPiVpMIhaghU
https://dl.doubtnut.com/l/_FgMcyBdmqh1V

C.27e ¥

Answer: A

° Watch Video Solution

64. y* = 4z AR z? = 4y T ARG GH@d

(THapa
20 _
A. 3 5T 9PD

16 _ .
B. 3 5T QPP


https://dl.doubtnut.com/l/_FgMcyBdmqh1V
https://dl.doubtnut.com/l/_4Nw5yGi95uIT

14 _ .
C. 3 5T QPP

10 _,
D. 3 5T 9PD

Answer:

o Watch Video Solution

65. BOBT (AF Tal BF IQ aB6 IFT
MA@ 8 T /ol@S.? Siggaw sifoxfier |

IFDIBT AT TFOIT fI517 gt efomy HAT®

(T STAY TI5Iq ©f 261


https://dl.doubtnut.com/l/_4Nw5yGi95uIT
https://dl.doubtnut.com/l/_LgVmTuZmFb8W

Answer: A

° Watch Video Solution

d
66.—y 1 —Ftaung -3 TI4IA{6 2@

dx T T

A.xz = csin(y/x)


https://dl.doubtnut.com/l/_LgVmTuZmFb8W
https://dl.doubtnut.com/l/_kLhh1PmSEQRU

B.z = csin(xy)

C.y = csin(y/x)

D. zy = csin(z /y)

Answer: A

o Watch Video Solution

d 32 sin?
67. 2 — 2, — T o isadfte aofs
dx 14 23 1+ x

HHTDBeT BB (ILF.) 2@

3
A. el +x


https://dl.doubtnut.com/l/_kLhh1PmSEQRU
https://dl.doubtnut.com/l/_kB03CeJbf8j2

B.log(l + :133)

C.1+ 23

1

D.
1+ 23

Answer: D

o Watch Video Solution

68. y=ae” (@UA a 932 b 7H &6e)

STIBII B TP THIBIT 2@

A gy = Y3


https://dl.doubtnut.com/l/_kB03CeJbf8j2
https://dl.doubtnut.com/l/_iCbVeh3crj95

B.yys = y7

C.yyi = v
2 _
D.yy; = 1
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_iCbVeh3crj95
https://dl.doubtnut.com/l/_8H9J84H8qeuZ

C. —log,.(1/2)

D. <log, 2

Answer: D

° Watch Video Solution

T
70. / sin®® z cos*? zdz AT TA
0

A.O

o
o[ &~


https://dl.doubtnut.com/l/_8H9J84H8qeuZ
https://dl.doubtnut.com/l/_LpNQKXJPNm31

D. 1

Answer: A

o Watch Video Solution

7 / *(£'(z) + f(z)log2)dz T

A2°f (x) +C
B.2" f(z) + C
C.2°(log2) f(z) + C

D. (log2) f(z) + C


https://dl.doubtnut.com/l/_LpNQKXJPNm31
https://dl.doubtnut.com/l/_reajyhiLgNc8

Answer: B

o Watch Video Solution

72. f(z) = tan "tz @ f/ (2) + f// () =0

(J IYA x-A9 4 2

A.O

B.1


https://dl.doubtnut.com/l/_reajyhiLgNc8
https://dl.doubtnut.com/l/_q1EerJ9Gj6Om

Answer: B

o Watch Video Solution

73.y = tan !~ L +f 1 2T 'y (1)=

Al
4
5.
2

-t

4

p.— =

2

Answer: A


https://dl.doubtnut.com/l/_q1EerJ9Gj6Om
https://dl.doubtnut.com/l/_bg7wCaVSsYzp

° Watch Video Solution

2 n __
24. lim r+ x4+ ...+ n

T
aQd i 27
rz—1 r—1

n+1
B.

n(n + 1)

n(n — 1)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_bg7wCaVSsYzp
https://dl.doubtnut.com/l/_FHey427wXrCs

sin (7r sin? a:)
75. lim =
z—0 xXr

A. 7r2

B. 3w

C.27

D.0

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_FHey427wXrCs
https://dl.doubtnut.com/l/_O67LPbTuA45i

76. IMm
z2— (A+2)z+A
{ — z # {2}

flz) =
2 T = 2

AETHDI6 x=2 f[T90 T30 W oK

A. A=O
B. A=1
C. A=-1

D. A=2

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_FAKmRLxGexKO

R L

x=2 IO f(x) B 2T \ 9 4 W

B. 1
C.0

D.2

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_FAKmRLxGexKO
https://dl.doubtnut.com/l/_kJFIx3MD58sE

78. AI6d WIS D BfeTd JYT YN SIS D6 2T

a® +a %
A f(z) = P —
a® +1
B. =
a® — 1
C. flz) == - 1

D. f(z) = log, (a: + v z? + 1)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_gy5HtEn9OwWj

79. ;W f(z + 2y, z — 2y) = xy ©W f(xy) 99

BIGES
Al
L., 2
BZ(:I: —y)
l 2 2
C.S(w y)
Dl(a:2—|- 2
5 (2% + y?)
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_R3yxpAZAzkwg
https://dl.doubtnut.com/l/_TvYvxRJu1hNm

80. ®Ifga y? = 4dax a7 N I ST FHet Sifl-

3947 g 7, BfeTq STpIda 2@

A. 9BT6 T
B. 935 TJa
C. 936 wfaga

D. 4316 38

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_TvYvxRJu1hNm

